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The ratio of the adjacent sides of a parallelogram is as 2 : 3, and itg pPerimetop i
40 cm. Find the sides of the parallelogram. -

The ratio of adjacent sides of a parallelogram is as 2 : 3, and its perimeter ig ¢ i
Find the sides of parallelogram. '

The perimeter of a parallelogram is 150 em. One of its sides is greater thap the
other by 33 em. Find the lengths of the sides of the parallelogram.

. Two adjacent angles of a parallelogram are in the ratio 4 : 5. Find the meagsure of

all the angles.

. Two adjacent angles of a parallelogram are in the ratio of 2 : 1. Find the measure of :

each angle.

Two adjacent angles of parallelogram are in the ratio 7 : 2. Find the measure of al]
the angles of parallelogram.

O

In the adjoining Figure, ABCD is a parallelogram.
If #~ DAB = 85° and 2 DBC = 60°, then calculate :

(1) £CDB (i) £ ABD 857

- e m = om e
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ich of the following statements are true ('I') or false (F) for a rhombus ?

4 @) 1s has oF . .
- Two of its angles are right angles. (iv) It has two pairs of equal angles.
(1.11;) Tts diagonals are equal and perpendicular to each other.
(,‘) [t has all its sides of equal length.
(:;‘;) Its diagonals bisect each other at right angle.
ABCD is 2 parallelogram. What special name will you give it, if the following
. Jdditional facts are known ?
(I) AB = AD (Ll) Z DAB = 90° (i) AB = AD and Z DAB = 90°
6. In the adjoining figure, ABCD is a rhombus.
i rind the measure of the following angles, if £ ACB = 30°:
4) £BOC i) £CBO
(i) £ OAD (iv) £ ABO
7. In a given rectangle ABCD, diagonals AC and BD intersect at O. If £ COD = 120,
find £ OBA.
8. In the given figure, prove that the diagonals ofa D : ¢
rectangle are equal. oy
A ’ =
9. Prove that diagonals of a rhombus bisect each other at

10.

11.

12,

right angles as given in the adjoining figure.

Prove that a rhombus with one angle 90° is a square.

in the adjoining figure,

Show that the four triangles as shown
bus are congruent.

formed by diagonals and sides of rhom

;n the given figure, ABCD is a rectangle. P
i’l and DN are perpendiculars to AC
P M B and D respectively.
Tove that AN = CM. : .

e

-
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ly two pairs of equal sides.  (i1) It has two pairs of parallel sides.



